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MATHEMATICS

3y Vr=§x+y)° voon & = 5. /24.99 3 wedo3n
dx

: (A) 4.999
@ = (B) 4899
(B) x+y (C) 5.001
(C) x-y (D) 4.897
o <

x 6. |3x-5|<2emn
3 SUNS IR0, Bree 3 Tsoecdi O T
SR DT ? 3
(A) fix)=x2-4x+5 in[l,3] (B) 15.-:53
B) fx)=x>-x in[0,1] 3
©) fix)=|x|in[-2,2] 9
D) f(x)=[x] in[2.5,2.7] ) Aeess
fix) = — 6x2 + 9x + 10 23IZR (D) —-leﬂ-g-
q,%zbd L203TVR)
(A) (~oo0, 1)U (3, x) Yo mq,zs._p wo ‘X' § Q\Sow
(B) (0, 1] U3, ) RogIsReoddodsy 8 durt downt k S
© [1,3] e
(D) (-0, 1] U [3, )

X | 1121391816l 7

WOTD AT ST wemonsd PX) | k-1| 3k| k| 3k | 3k2| k2 | k2+k
4 B3 CoSQ, FOWIS. rbud “Then the value of k is J
WED 14 X.20¢. SROTN GET HXecdF s A 1
EOBeRIRE Q00 g
(A) 1043 cm?/sec (3. 3.20¢/%) (B) -2
(B) 14+/3 ecm?¥sec (23. B.20¢/%) ©) %
(C) 42 cm?/sec (23. 3.20¢/3) 1
(D) 14 cm?sec (5. 3.200/3) @) =
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MATHEMATICS

1. If3yJx ::ﬂ(x-p y)® , then g . 5.  The value of v24.99 is
o (A) 4.999
A = (B) 4.899
(C) 5.001
(B) x+y (D) 4.897
€) x-y
m)
" 6. If|3x—5|<2then
2. Rolle’s theorem is not applicable in (A) -1<x< 7
which one of the following cases ? 3
(A) f(I)=1'2-4I:*'5 in [1, 3] (B) 15151
B) fx)=x2-x in[0,1] 3
©) fix)=|x| in[-2,2] 9
(D) flx)=[x] in[2.5,2.7) @ 1sxs 3
3. The. interval .in. which e fumction D) -1s:s-§-
f(x) = x3 — 6x2 + 9x + 10 is increasing
in -
(A) (=0, 1)U (3, ®) 7. A rax.idum var'ufble . ‘).{" .has the
(B) (o, 1]U[3, ®) following probability distribution :
- [1.3] X LTIl SESL T
(D) (=0, -1] U [3, ) P(X) | k-1| 3k| k| 3k| 3k2| k2| k2+k
Then the value of k is
4.  The sides of an equilateral triangle are .
increasing at the rate of 4 cm/sec. The A) =
rate at which its area is increasing, 3
when the side is 14 cm (B) -2
(A) 1043 cm¥sec 5
© =
(B) 14+/3 cm?/sec 7
(C) 42 cm?/sec D) 9
(D) 14 cm?%/sec 10
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8. A % B nid § FPpeds 0D
Pusnoonsy, P(A) = 0.2, P(B) = 0.6

=% P(AJB) = 0.5 #ncid P(A'B) =
(A) —
2
(B) 3
©)

(D)

9.7 Xt oy aﬁaﬂrs NITIE 8. o

10. w2 Ssodo 3 09 2 3o IID
SR, S WIS Mo n nies
S=1{1,234156 7 39 word
Boad,oRy GORTS I G FeH
%035, HOTH F[TO TRAET. & Foas, o3
NETNCR R0, S
RogsRecHIoX0

(A)

(B)

S
W | W El"‘ = |t

11. 100 rimoz!ﬂdzdgl TRodTOS U 20w
aag'itadq‘A = B nisb ﬂmﬁvahdg} :
n(A) = 50, n(B) = 60, n(AnB) = 20

B,a08risdn =6, p DI P(X =2) = 12, smonn (A'NB’) =
(A) 40

PX=3)=5400 P= (B) 20

5 © 9%
(A) 71 (D) 10
(B) -‘;}— 12. f:ﬁ—rﬂaiq_,f(x)=\(x2-'?x+l2

: OISR, T, a0, DTN flx) B FeI,
s (A) (~,3] U [4, )

s (B) (-=,3]U (4, »)
2 PR ©) (-,3]N[4,x)

" D) (3,4)
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10. A man speaks truth 2 out of 3 times.
If A and B are two events of a sample He picks one of the natural numbers in
space S such that P(A) = 0.2, P(B) = 0.6 the set S = {1, 2, 3, 4, 5, 6, 7} and
reports that it is even. The probability
and P(A|B) = 0.5 then P(A'[B) = that it is actually even is
2
A) -
(A) .;’... ( 5
10 1
(B) -
) 5
® = A
3 © 1o
3
1 (D)=
i,
(©) > 5
D) 1 11. If U is the universal set with 100
3 elements; A and B are two sets such
that n(A) = 50, n(B) = 60, n(AnB) =
20 thenn (A'NB") =
If *X’ has a binomial distribution with (A) 40
parameters n = 6, p and P(X = 2) = 12, (B) 20
P(X=3)=5thenP = 19 .
(D) 10
A=
12
12. The domain of the function f: R - R
)
21 defined by f(x) = Vx% —Tx +12is
] (A) (—o0,3]U [4, )
) =
2 (B) (_ o0, 3] v (4! Cﬂ)
= © (~,3]N[4,)
3 D) (.4
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13. cos x = | sin x | IEBTLT TR, 17 Xx=§. ¥+l EZ4 8 Sikhkst sois
TOBITY) A
3x —4y — z + 5 = 0 I23on¢ I2DI
(A) x=nni§,nez OO BRI
9
et A m—n[_]
(B) x=2nn+ z ,neZ (A) et
(C) x=nn+(-1)" 2 neZ (B) si l(__g 3
= -1 —, sin~
4 V364 )
n
(D) x=2n+ 1)+ — ,neZ _,[ 5.
C) cos'|—=
- © 2J13 )
5
14. 3 20° - 20° = D i —e
V3 cosec sec (D) sin (2J1_3]
(A) 2
S 18 1,2, 1) 20830000
© 4 PR
D) 1 x2-1=3’;2=2-3 X0 Seadrt achs
L0330y
15. P(n) : 2" < n! |E, JareoRos wse
s PORY PERFOEY A S B e
Ay 2
5 20
(B) 3 (©) % (D) S
€ 4
e 19. XY-as030g), A(2, 3,-5) :b!g
16 Zroy+z+3=0580d (1,3, 4) B(-1, -2, -3) worriva) deeazss
WOTNVOT T LOWTTT WO xm.em EREHEE S
(A) (-1.4.3) (A) 2:1 030800
(B) (0,-4,-7) (B) 3:2 wmmmon
© (1,2,-3) (C) 5:3 e0308=0n
: 4
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13.

14.

15.

16.

If cos x = | sin x | then, the general
solution is

(A) x=m::t-’4£,nez
(B) x=2nnt % ,neZ
(C) x=nn+(-1)" % ,neZ

(D) x=Cn+1)nz % neZ

V3 cosec 20° — sec 20° =
(A) 2
(B) 3
© 4
(D) 1

If P(n) : 2" < n! then the smallest
positive integer for which P(n) is true,
is

(A)
(B)
©
(D)

b & W M

Foot of the perpendicular drawn

. from the point (1, 3, 4) to the plane

2x-y+z+3=0is

17. Acute angle between the line
=8 ¥¥l “Z+4

e oty
3x—-4y—-z+5=0is

I 9)
(A) ms(m

3

and the plane

9
B) sin!| ——
(B) sin [J3_

5

-
or [m‘i,,
" _'I 5 ]
(D) sin [—2 Jﬁ

/
3

18. The distance of the point (1, 2, 1) from

I-l_}'—2_2—3i

the line
1 2

23

S

(A) -
25
w5
V5
3
20
3

(B)

©

(D)

19. XY-plane divides the line joining the
points A(2, 3, -5) and B(-1, -2, -3) in

the ratio
(A) 2:1 internally

(B) (0,-4,-7) (B) 3:2externally
© (1,2,-3) (C) 5:3 internally
D) (-3,5,2) (D) 5:3 externally
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20.

SEODY AT SRy VRN

5 23, X03E 2 S b v DI ReesY
£9
y Tondy, B 3 et T 3 g 2
HEWH;|=
(A) 4
(B) 3
(10,0)
_ (D) 1
(A) 4x+5y=220, 3x+ 10y < 30,
56! . 2 A A . A
o 24.5:}-};00 B 24. T +2] +k = 2f + + 3k
X = . X .
e ROBReR  BeoddI XSOl
ol
(C) 4x+5y<20, 3x+ 10y < 30, s b mat e |
526, xya0 N AN '
1+j+k
(D) 4x+5y<20, 3x+ 10y < 30, (A) N |
x26, x,y20 e
B) i+‘|_
2l. 'y = Ce%™ + Cpe“" emuos V3
B0EBTET Ted o0 2 B 4
A) 1 AL
B) 2 6. &3
-i-j-k
©) 3 (D) \113
(D) 4
22. |a|=16,|b|=4 soon 25. [a+2b-¢,a-b,a-b-c]=
\IZxBR+|3-BP = ol
(A) 4 (B) [a.b,c]
(B) 8 o B3
€) 16 wilih:
(D) 64 D) 3[a,b,¢]
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20. The shaded region in the figure is the E >, 7%
" solution set of the inequations 23. Ifthe angle between a and b is Tand
y -
the projection of a in the direction of
bis—2,then|a|=
(A) 4
(B) 3
> X {C) 7
(D) 1
(A) 4x + S5y =2 20, 3x + 10y < 30,
<6, x,y20 5 _
5 i | 24. A unit vector perpendicular to the
(B) 4x+5y=>20, 3x+ 10y < 30, 2= d At
x26, x,y20 plane containing the vectors i +2j +
(C) 4x+5y<20, 3x+ 10y <30, and -2i + j + 3k is
x<6, x,y20 : e
(D) 4x+5y<20, 3x+ 10y < 30, (A) _J_“‘ﬁ
xe6, x,vE0 B
® =K
21. The order of the differential equation \ﬁ
C,+x Ctx -
y=Ce " +Cse s H‘i’*+j~_£
©)
(A) 1 \3
i Stk
© 3 (D) NE
(D) 4
22. If|a|=16,] b |=4 then, 25, [a+2b-¢c,a-b,a-b-c]=
VIZxBR+|3-BP = A
(A) 4 B) [a,b,c]
o (©) 2[a.b,c
(C) 16
-
(D) 64 (D) 3[a,b,c]
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26. fcnrixdx= 29. f[ﬂ]dx-
= 0
(A) 3n (A) 5-42-43
®) 0 B) 5+2-43
EE; g"‘ ©) 5-V2+43
@) -5-2-43
1
27, | ———mdx= |
'[‘E”‘E 30. f L5 STV
(A) 2log(Vx +1)+C 8 Wiy
(B) %tan“'J;HJ (A) %_1
(C) tan!'Vx+C ®) Z4+1
(D) 2tan'Yx+C *
n
©) 5
2x -1 " 1
57 f (x-—l)(x+2)(x-3)dx A% ® 3
|x—=1|+Blog|x+2|+Clog|x-3|+K
st A, B, C rish e55308,50m0Nn
31. a=DRP AL +x+ 1 =0 3BTRS
(A) “'?l%'_l | Ssoneonad a? + B2 aowomd
111 @) 1
® 5753 14143
(B)
o L=tt ;
§'%'3 ~ <13
-1 -11 5 2
(D) Hs_rg (D) <
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26. fcut"xdx -
-3
(A) 3=
B) 0
(C) 6r
(D) 3

27.

| o

(A) 2log(Jx +1)+C
(B) -%tan_l\/;+c

(C) tan'Yx+C
(D) 2tan'Vx+C

28. J. A d« = A log
(x=ID(x+2)(x-3)

|x—1|+Blog|x+2|+Clog|x-3|+K,

29 f[r‘!]dx=
0
A) 5-2-43
B) 5+v2-43
©€) 5-V2+43
D) -5-V2-3
!
l1+x
n | e
n
(A) E_l
B) Z+1
n
©) 3
1
(D) 3
31. If x and B are roots of the equation

then A, B, C are respectively x2+x+1=0then o’ +B2is
(A) '_ll,:l (A) 1

6352

111 @ i3
(B) 61‘31'5 2

1 -11 .

AR -1-i+/3
Crogmig. (©) 2"/_

-1 -11
(D) < 35 (D) -1

Space For Rough Work
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32. 1,2,3,4,5,6, 7 ©08nvd JISoossrs \
e 20> X TN S0 tiRoss, 36. f”smhdx:
WS Tt OERLBOTE 4 e0¥nY @A) - x3 cos3x i x? sin 3x X
K0a3, 030 3 3
(A) 432 2xcos3x  2sin3x +C
(B) 436 9 27
(g) ::g B) x> cos3x £ x” sin3x -
(D) 3 3
33, (2 + yA) — (32 - y2)2S Ry DKoM 2.1';.';53_1- _ 2sin3x +C
RO9EBOATIN ThRdotns TERY Koo, 27
(A) 0 {6 i x> cos3x ”; x? sin3x ”
(B) 13 3 3
(C) 26 2xcos3x  2sin3x +C
(D) 50 9 27
x>cos3x x>sin3
3. o romeest g eacd wdde Do D) -=———VEEESe
9 umn oot AeTo D ITNe .
o 2xcos3x  2sin3x +C
i 9 27
(A) 3°
9
((B:) i*“ 37. y?=x ToSwcd B a2 +y2 = 2
ED; 312 F3E SBDAF  X-o8n Ded 3
SOCDT DAY BT TRINTY,
35. =o¥ Ceadcdood APer3s SLiicHan (A) %3
D Pemsnd)  evooRRRTT, © 4 2
SeaSod FIoZE X-eg*dmaﬂ (B) 3 =
VOLDTNREIT RN 2 4
(A) 45° (©) 2z
(B) 90° 3-8
(©) 120° T
(D) 135° 4 3
Space For Rough Work
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32. The number of 4 digit numbers without
repetition that can be formed using the 36. f"ﬂﬂhd’f:
digits 1, 2, 3, 4, 5, 6, 7 in which each ' 3 S
number has two odd digits and two A) == cg-s o s;n L
::;n c:;ts is 2xcos3x  2sin3x +C
(B) 436 : &
(C) 450 ®) x° cos3x B x% sin3x 3
(D) 454 , 3
2xcos3x 2sin3x
33. The number of terms in the expansion ek T
of (2 + y® — (2 — y?)® after 3. 2
simplification is T P el bl i
(A) 0 R
B) 13 2xcos3x  2sin3x +C
©) 26 9 27
(D) 50 D) - x° c;:slix ’ x? s;n 3x -
34. The third term of a G.P. is 9. The 2xcos3x 2sin3x .
product of its first five terms is e e |
A) 33 |
B) 3 37. The area of the region above X-axis
(C) 3 included between the parabola y* = x
(D) 3'4 and the circle x> + y?> = 2x in square
units is
35. A line cuts off equal intercepts on the @A) ® 3
co-ordinate axes. The angle made by 4 2
this line with the positive direction of 3
X-axis is (B) o
(A) 45° g
B) 90° D5
(C) 120° o 3
D) 135° o Do
Space For Rough Work
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38. Y-8,y =cos x B y = sin x ; 41. OepFrR3 9? +25y2=2253
0% x < 2003 est3rtaonuss Soaka b A
4
DRI R
(A) V2-1 Sq. units (23. SRIr) ® 2
5
(B) /2 Sq. units (3. SRSrish) ol
(C) 2+ 1 Sq. units (23. IRIND) ‘;
(D) 2 - /2 Sq. units (23. SRIAD) D)
n
39. (2x+3y)dy =y dx (y > 0) 43803 42. ) (2r-1)=x omn
TEFTLIT RBOT T[S ID) r=1
2 lim ]3+23+33+ +£ =
ey b 1 5 s B S >
¥ %3 I
SR T &Y
e “ A 5
y I
© = Pk
"1 ©) 1
O — )9
y
43. “oup eUF Lv3Fnisd R ToroIS.”
40. .0z J8,Pelrt oInPYde Word (x, y) 83 e03ed FTTRFE vdedd
3Q VO IFFEE LU ¢ omdS A) oz, oo SIZ L
dFerBEne  rorowsNR (1, 1) OHF [P0,
VOTOIT weE T Beesd, o (B) #o RO B icd
38, Bealomd X0ETEIRY DR oS,
(A) 2logx=y*-1 (C) o oy  wu3gnsd
B) 2logy=x>+1 ST,
(€©) 2logy=x*-1 (D) o, NRF, VI risd
D) 2logx=y>+1 SN IS,
Space For Rough Work
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38. The area of the region bounded by 41. The eccentricity of the ellipse
Y-axis, y = cos x and y = sin x; 9x2 + 25y2 =225 is
% 4
0<x< > is (A) =
(A) 2-1Sq. units ® 3
(B) 2 Sq. units g
(©) 2 +1 Sq. units .2
(D) 2- 2 8q. units D) >
16
39. The integrating factor of the .
differential equation (2x + 3y?) oA
= de = Ols 42, rZ“#l(zr 1)=x then
1 3 a3 a3 3
: R AN n
A) ef lim i i 2t e b
(A) ﬂl Faresd 0 ks 5
L) e 1
y? (A) 5
| 1
c - i
© - ®) |
1 <) 1
v
43. The negation of the statement “All’
40. The equation of the curve passing continuous functions are
through the point (1, 1) such_that the differentiable.”
slope of the tangent at any point (x, y) (A) All continuous functions are not
is equal to the product of its co- differentiable.
Sofeues bn (B) Some continuous functions are
(A) 2logx=y*-1 differentiable.
B) 2logy=x+1 (©) Sume‘: cnntil_muus functions are
not differentiable.
(©) 2logy=x*-1 (D) All differentiable functions are
(D) 2logx=y*+1 continuous.
Space For Rough Work
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4. 100 TIOBRE DER,08 DR N8 47, [x] 200> NOR TEWFo8 VST
JBOBRD RB,TEN 50 I 4 30858 Tone f(x) = x — [x] — cos x
SNGB, & TSRS IAFNY $e3Y (n) ks

eson /| — |=
(A) 251600 -
(B) 256100 (A) 0
(C) 266000 (B) 1
(D) 261600 ) 2
(D) ©RIZQAOIOL,
45. ‘EQUATIONS’ oow IGG &80n0os _
TR PORER) eod INBFONS. & sin3x 250
TP L 48. fix)={eX* -1 QOLOTD
SBONYY, wo® IT Tone  womd b &
=, 0TS BoggsRecdBes0 k~2 -3 x=0
g : x=03Q vaygmemenk =
A) = 3
9 (A) =
. 2
4
9 (B) 9
: 5
1.2 N 1
9 0) =
(C) >
(D) E 7
9 i3
3
3x+1 2x-1 x+2 Hx+]
46. [5x-1 3x+2 x+1 [ 49.  f(x) = sin”! [1+4-"] woon £(0) =
Tx-2 3x+1 4x-1
DRONTR BRSCH A TR08Y il i
T nng (B) log2

(a):9 o 2log2
B) 2 (€) 3

©) -10 4log?2
D) —=
D) 6 5

Space For Rough Work
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44. Mean and standard deviation of 100 47. If [x] represents the greatest integer

items are 50 and 4 respectively. The function and f(x) = x — [x] — cos x then
sum of all squares of the items is | f'( n } 5

(A) 251600 2

(B) 256100 (A) 0

(C) 266000 (B) 1

(D) 261600 (€) -2

(D) does not exist

45. Two letters are chosen from the letters '
of the word ‘EQUATIONS’. The sin3x

probal;ility that one is vowel and the 48. iff(x) = e2* _1 B0 is
other is consonant is
G AR S T |
(A) .g. continuous at x =0, then k =
3
(A) =
(B) i 2
9 9 "
© = :
9 1
© =
5
o) 2 g
9 2
e
(D) 3
46. The constant term in the expansion of
, x+1
3x+1 2x-1 x+2 49. If f(x) = sin™! [2 x],thenf'(ﬂ)=
Sx-1 3x+2 x+1|is 1+4
7x-2 3x+1 4x-1 (A) 2log2
(A) 0 (B) log2
®) 2 ©
(C) -10
4log?2
D) 6 D)oy
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- . d2y 52. P 3 Q risd IsHorod Iswon
N x—amﬁ,}’—atan ﬂm:l;z—- mm%ﬂ‘ PQ — QP oowdmd
OO
(A) 2a
(A) DN I3 8
B) 1
(B) Xtnont I3 8
< 0
(C) o3, In3¥
(D) 4
(D) Qsnon Sndd
o | (7 -10 17
51. |0 1 1| =n3dded Tadeed | 53 3A+4B'=| B
Sl
-1 0 3] A
o, Poso
. 2B-3A'=|4 0 |eoonB=
.- = 1] | TR
L]
(A) =15 6 -5 '] 3"
£ plme NS @A) |-1 1
. ;
3 -5/.5 . ’
B |-1 -6 -2 (1 -3]
e @ |1 )
- -2 4_
R - E. 3 i
) el | § i i :
fin L e © (4 -16
] ; -5 -7
T : q
D) |-1 ;S 52 S,
: . | -1 1
: e
Space For Rough Work
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If P and Q are symmetric matrices of

dzy 52.
50. Ifx=asec?0,y=atan?0 then i
dx ~ the same order then PQ — QP is
(A) 2a :
(A) identity matrix
(B) 1
(C) 0 (B) symmetric matrix
(D) 4 :
(C) zero matrix
(D) skew symmetric matrix
51. The inverse of the matrix
2 R gy 1017
R ey 53. If3A+4B'= [0 6 31]
j=1 -0 3 (-1 18]
i i 2B-3A'=| 4 0O (thenB =
3 ~§ %1 ETEe
(A) |-15 6 -5 : .
W ages ER R 1,3
(A) [-1 1
35 =% - 4] i - -
B) (-1 -6 -2 Py et
k- it 2 @) =17
3 < s ST
3 .~15 - § i &
© |-1 6 =2 i
BASCCEES B (©) 4 -16
---“-5 —7-
3 =18 'S q 3
D (-1 6 =2 7l 5 R
it o e 12 -4
Space For Rough Work
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e 2 - 58. ToogE now  Rolned  ned
| ABE'| = QEnSod * & asb = =—a0m
(A) 50 0, 300, NFOONS. 2 # x =37 433, x =
(B) -250 |
(C) 100 A) =
(D) 250 S
(B) 5
§5. womd Teole oTHrod dperoEd
docko 16 N3, & SGRFosa ©) %
voBnTRy oY IBrdeesnoos 125
WEEORTN, AGRFOYE Wdozn (D) ry
(A) 96
(B) 48 '3 3
(C) 256 59. cus[2sin' E+cus’! I:|=
(D) 16 3
(A) —
6. f:R> RIDg: [0, 0) > RIY '
B) 3 3
fx) = 22 YR ghr) = Vx o> (8)<7
TARIZRNG. B FNIINYY, © 3 1
CXRTROTO FOARET L, ? 5
(A) gof(4)=4 (D) does not exist
(B) fog(-4)=4 1
(©) fog(2)=2 n =1 ol |
D) gof (-2)=2 60. a+2*=‘12tan x+3cot x<b smn
‘a’ DB ‘b’ nsb s, sdTN |
57. A={x|xeNx<5},B={x|xeZ x? A0 28 '
-5 +6 =0} s A 208 B A (A) ="
evoEsr>s shewrs suZF e Boad,0do (B) g 3> 27
(A) 2
B) 23 (C) 0=D2n
(€ 30 e X
@) 32 o e
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§i 3 ) 58. On the set of positive rationals, a
4. IfA= 4.7 ,B= s i » then binary operation * is defined by
| ABB'| = a*b= %
(A) 50 i
(B) -250 If2*x=3"thenx=
(€©) 100 (A) 1
D) 250 65
(B) T
55. If the value of a third order
determinant is 16, then the value of the (O 2
determinant formed by replacing each 5
of its elements by its cofactor is e 125
(A) 96 Y
(B) 48
(C) 256 33 %
D) 16 59. cus[Zsm I+cus I:I—
-3
(A) -
6. f:R—> Rand g: [0, ®) > R is 4
defined by f(x) = x* and g(x) = Jx. (B) 3
Which one of the following is not 4
true ? 0) 3
(A) gof @)= 4 © 3
(B) fog(4)=4 (D) does not exist
(C) fog(2)=2
2 92 22 60. Ifa+ 32‘-{ 2tan! x+3 cot! x<b
57. IfA={x|xeN,x<5),B={x|xeZ then ‘a’ and ‘b’ are respectively.
x*> — 5x + 6 = 0}, then the number of (A) Oandn
onto functions from A to B is O S
(A) 2 B e
(B) 23 (C) Oand2n
(©) 30 -7 T
D) 32 e s )
Space For Rough Work
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COMMON ENTRANCE TEST-2019

DATE SUBJECT TIME | QUEST]ON BOOKLET
' “cgs;g” SERIAL NUMBER
29-04-2019 |MATHEMATICS| 02.30 PM TO 03.50 PM A 1
Total Maximum Time for Maximum Total No. of Mention Your
Duration Answering __Marks |  Questions | "~ CET Number
80 Minutes 70 Minutes 60 60
DOs: s

1. Candidate must verify that the CET number and Name printed on the OMR Answer Sheet is tallying with the CET Number
and Name printed on the Admission Ticket. Discrepancy if any, report to invigilator.

2. This question booklet is issued to you by the invigilator afier the 2* bell i.e., after 2.30 pm.

3. Candidate must verify that the Version Code of this Question Booklet is tallying with the Version code on the OMR
Answer Sheet. Discrepancy if any, report to invigilator.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTSs:

I. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED / 1
MUTILATED/SPOILED.

2. The 3™ Bell rings at 2.40 pm, till then;
e Do not remove the seal present on the right hand side of this question booklet.
¢ Do not look inside this question booklet or start answering on the OMR answer sheet.

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters. (Four different
options / responses.)

2. Afier the 3™ Bell is rung at 2.40 pm, remove the paper seal on the right hand side of this question booklet and check that
this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced immedaitely by
complete test booklet by showing it to Room Invigilator. Read each item and start answering on the OMR answer sheet.

3. During the subsequent 70 minutes :

» Read each question (item) carefully.

¢ Choose one correct answer from out of the four available responses (options / responses) given under each question /
item. In case you feel that there is more than one correct response, mark the response which you consider the best. In
any case, choose only one response for each item.

 Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number
on the OMR answer sheet.

ROcIRT &, 3T 8,30ML WRONG METHODS

mnnzﬂmz'rnun©©®®©®,®..® (
DOOPIPEOO® ®O®O®

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

6. After the last bell is rung at 3.50 pm, stop marking on the OMR answer sheet and affix your left hand thumb
impression on the OMR answer sheet as per the instructions.

7. Hand over the OMR answer sheet to the room invigilator as it is.

8. Afier separating the top sheet (KEA Copy), the invigilator will return the bottom sheet replica (candidate’s copy) to you
to carry home for self-evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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